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C.I.S. EXAMINATION
PRACTICE OF LIFE ASSURANCE
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Answer EIGHT questions only. Question number TEN carries 16 marks but this is not
' compulsory. All other questions carry 12 marks each.
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1. Write short notes on (any three) :- ' 4 each
a) Children's Plan
b) Special Revival Scheme
¢) Presumption of death
d) Ageproof _ o
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Fill in the blanks:- ‘ 1 for gach blank

a) is the consideration paid to secure benefit in an insurance contract.

b) Thetwo types of annuity are annuity and annuity.

©) : and are the three types of hazards in life
insurance.

d A policy is a term insurance policy without the limitations of a
period.

e) Almost 90% of the activities relating to policy holders, fromrreceipt of
proposal to the settlement of claims, are done at the level of
offices in the LIC.

f) AsperIRDA'sdirectionsonly insurance plans should be offered
forkeyman insurance.

g Forpolicies on lives of persons resident in India issued in Rupee currency,
permission has to be taken from to get it transferred out of India.

h) _____ coverand_______ benefit are the two basic elements of
insurance plans.
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Distinguish between (any three) :- 4 each
a) ~ ULIPs and Traditional Plans

b) Nomination and Assignment

¢) Individual Insurance and Group Insurance.

d)’ Immediate and Deferred annuities.
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Fillintheblanks- 1for each blank
a) ___isthe consideration paid to secure benefit in an insurance contract.
b) Thetwo types of annuity are annuity and annuity.
c) _and are the three types of hazards in life
insurance.
d A policy is a term insurance policy without the limitations of a
period.

~e) Almost 90% of the activities relating to policy holders, from receipt of
proposal to the settlement of claims, are done at the level of
offices in the LIC. :

f) AsperIRDA'sdirectionsonly insurance plans should be offered
forkeyman insurance.

g Forpolicies on lives of persons resident in India issued in Rupee currency,
permission has to be taken from to get it transferred out of India.

h) cover and benefit are the two basic elements of
insurance plans.
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Distinguish between (any three) :- 4 each
a) ~ ULIPs and Traditional Plans
b) Nomination and Assignment
¢) Individual Insurance and Group Insurance.
d) Immediate and Deferred annuities.
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Give one word: : ' - 2each

a) Transfer of rights, title and interest in a policy.

b) Document issued under Group Life Insurance.

c) Regular payments made by an employer to the employee after his
retirement from active work.

d) Dateon which risk commences in case of children's plan.

e) Remuneration given to the agent/ broker

f)  Consideration for insurance contract.
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State whether the following statements are True or False. leach

a) Apolicy holder can avail of loan under ULIP policy.

b) The surrender value factor depends upon the actual premium and mode
of the policy. :

¢) InPLI, there is no need for reinsurance.

d) Group insurance schemes are used as instruments of social welfare by the

_ Government.

e) Nomination changes the title of the policy.

f)  Facts of law need not be disclosed.

g0 Awidower cannot take out a policy under MWP Act.

h)  Asper IRDA Regulations, the decision on the proposal must be conveyed
within 15 days. .

i) If anabsolute assignee dies, the rights of the policy reverts back to the
policy holder.

j)  Purerisks are insurable while speculative risks are not insurable.

k) Interest on policy loan is payable at half yearly intervals.

)  Partners in abusiness have insurable interest in the life of each other.
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Match the following : 2each
a) Paid-up value ) NAV

b) Pure Endowment i)  For the benefit of Wife and Children

c) Occupational Hazard - iiiy Non-forfeiture option
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Linked Policies iv)  Waiver of Future Premiums
MWP Policies v)  Only Survival Benefit
Permanent Disability vi) ExtraPremium
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How can Non-Resident policy holders pay premiums? 6 each
How claims are settled in favour of Non-Resident policy holder?

T Al & e FwE 9 (38 % 6 37%)
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What are the functions of an agent? ; 6 each
Explain the waiver of evidence of title in practice in insurance.
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State the various option of funds offered by insurer under ULIP Policies. 6 each

"The underwriting process is an important one in any insurance office."
Explain.
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What is alevel premium?

Calculate the paid-up value on the basis of the following data:-

D.O.C. 20-06-2000

S.A. Rs, 2,00 ;000

Plan-term 14-25

Mode Half yearly

FUP 20-12-2009

Calculate the installment premium the basis of following data:-

Plan and Term - 14-25

Sum Assured _ - Rs.5,00,000/-

Mode of Payment - Yeary

DAB Allowed - Rs. 1 per thousand

Tabular Premium - Rs.48.20

S.A Rebate - Rs.2%0 )

Mode Rebate - Yearly - 3% of Tabular Premium

Half Yearly - 1.5% of Tabular Premium



